Hardy-Weinburg Cheat Sheet
Hardy-Weinburg Notation


P      =Frequency of the Dominant Gene



q      =
Frequency of the Recessive Gene

 

P2     =Frequency of the Homozygous Dominant Genotype

                       q2      =Frequency of the Homozygous Recessive Genotype and Phenotype

                                 2Pq     =Frequency of the Heterozygous Genotype


      P2+2Pq  = Frequency of the Dominant Phenotype
Hardy-Weinburg Generalizations
P + q = 1

P2 + 2Pq + q2 = 1
Solving a Hardy-Weinburg Problem

1.  Read problem to determine the frequency of the homozygous recessive (q2)
2.  Take the square root of q2 to solve for q
3.  Use the P + q = 1 generalization to solve for P

4.  Give ‘em what they want!
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